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Section : General Knowledge/Awareness

Q.1

Ans

Which is the largest bauxite producing state in India?
# 1. Uttarakhand
#< 2. West Bengal

Question ID : 2391302921

X 3 Himachad Pradeds  WWW.ALLEXAMREVIEW.IN

v 4. Orissa

Q.2

Ans

Which is the world’s largest lake (by surface arsa)?
# 1. Lake Huron
« 2. The Caspian Sea

Question ID : 2391302932

/< 3. Lake Victoria
/< 4. Lake Superior

Q.3

Ans

Which is the capital city of Telangana?
& 1. Vijayvada

Question ID : 2391302936

< 2. Amaravati
« 3. Hyderabad

/< 4 Karim Nagar

7

Q.4

Ans

Who is the acting Governor of Tamil Nadu?
< 1. Konijéti Rosaiah
2% 2 Sardar Surjit Singh Barnala

Question ID : 2391302929

«' ¢ CH. Vidyasagar Rao

X 4 0. Panneerselvam

Q.5

Ans

‘Whe among the following is the ex-officio Chairperson of Rajya Sabha (Council of States)?

& 1. President of India

Question ID : 2391302916
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v 2. Vice President of India
< 3. Prime Minister of India
/< 4. Speaker of Lok Sabha
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Ans

Q.6 Aamir Khan's recent film ‘Dangal’ is inspired by the real-life story of:

/< 1. Dara Singh

' 2. Mahavir Singh Phogat
/< 3. Sushil Kumar Solanki
& 4. Sakshi Malik

Question ID

12391302933

Q.7

Ans

Who was the teacher of Chandragupta Maurya?

#< 1. Ashoka the Great
< 2. Skandgupta

#< 3. Vishnu Sharma
+ 4 Chanakya

Question ID.:

2391302919

Q.8

Ans

Where is the “Dead Sea’ located?
/< 1. between Iraq and Iran

#< 2. between Syria and Lebanon
« 3. in Saudi Arabia
v 4 between Israel and Jordan

Q.9

Ans

Question ID

12391302923

What is the S.I. unit of work?
< 1. Metre

v 2 Joule

< 3. Newton

< 4 Second

Question ID

12391302927

Q.10

Ans

Raziya Sultana was the ruler of
< 1. Bijapur

¥ 2 Delhi

< 3. Hyderabad

X 4 Pumjab

Question ID

12391302920

Q.11

Ans

Whici: of the following planets rotates in the clockwise direction?
v | Venus
/02 Mars
7% 3. Jupiter
& 4. Saturn

Question ID

12391302922

|QJ2

What does ICICI in ICICI Bank stands for?




Ans

Ko

Infrastructure Creation and Investment Company of India

Question ID : 2391302924

X2
Industrial Credit and Infrastructure Corpus of India
v &3

Industrial Credit and Investment Corporation of India

X 4
Investment Corporation for Industrial Credit in India
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Q13 1f we suspend a magnet freely. it will settle in

Ans

/< 1. North-East direction

< 2. East-South direction S

< 3. East-West direction
' 4 North-South direction

Question ID : 2391302925

Q.14 Who is the current Managing Director of International Monetary Fund (IMF)? I

Ans

# 1. Tao Zhang

X 2. David Lipton

& 3. Kristalina Georgieva
' 4. Christine Lagarde

Q15 1 =dr 2017 =, FFoer Tg3 To¢ AEWRE @ 9% Fe0r R ar?

Ans

Oyestion ID : 2391302937

X . Rrrafeer ST

Question ID : 2391302938

X 2 oy Uy
X 3 & Fr-HA

v« TR R

Q16 Which is the ultimate source of energy on Earth?

Ans

X 1. Coal

Question ID : 2391302926

&< 2 Wind
\, 3. Sun
X 4 Pefrolenm

QY g & FoaE AUEE UF AgeEr et () #i 82

Ans

#0. FFHoT g

Question ID : 2391302935

v 2 T AT
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X4 Froa e




Page 4

Q.18 Who among the following sportspersons is NOT one of the Padma Shri awardees for the year 20172

Ans - X' 1. Vikas Gowda
/< 2. Dipa Karmakar
' 3. Shikhar Dhavan
# 4. Sakshi Malik

Question ID : 2391302931

B —— —

Q19 WWho is the current chief of the Indian Army Staff? Question 1D -239130 5
Ans 1. Dalbir Singh Suhag
& 2. Lt Gen PM Hariz
' 3. General Bipin Rawat
# 4. General Praveen Bakshi

Q.20 The Ministry of Urban Development. Government of India. launched the HRIDAY scheme on 21st January. 2015, with
a focus on holistic development of heritage cities. What does HRIDAY stands for? Question 1D :2391302925

Ans X 1. Heritage Region Development Yojana

2
Izi(ndu Pilgrimage Development Association Yojana

X3
Hindu Religious Destinations Augmentation Yojana

v &

Heritage City Development and Augmentation Yojana

s el
Q.21 According to Article of the Indian Constitution. “The official lang of the Unign shall be Hindi in

Devanagari script”. Question ID : 2391302917
Ans X 1..3508

X 2 368
<3 370
v 4 343

Q.22 India won the 2016 Kabaddi World Cup (Men) by defeating:
Ans X 1. Thailand

< 2. South Kored

< 3. Pakistan

v 4 Tran

0% FEHAT Foaad Y T e @ oft? Question ID :2391302918
MK Hersg A e

Question ID : 2391302930

v 2 HeASEA 9EAS UE (3% &84 7))

0 TRIr=E gEH AT
24 AT R

Q.24 Which is the longest (or largest) Constitutional amendment act. known as ‘Mini Constitution’?

Question ID : 2391302915
Ans




1 12™ Amendment
X 2 44™ Amendment
v 2 4294 Amendment
X 4 g6th Amendment
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Question ID : 2391302934

Section : Numerical Ability

Q.1 [Ifthe sum of 2 numbers is 165. their LCM is 1300 and HCF is 5. Then the difference between 2 numbers is:

Ans x 1. 20
<2 30
3 35
X425

—

Question ID : 2391302941

Q.2 The number of terms in the sequence 5, 20, 80, 320.
Ans X 1. 6
<28
Vs 7
-9

p

. 20480 is:

Question ID : 2391302964

Q.3 In a bio gas plant the population of yeast bacteria increfses at a rate of 496 per annum, but there is an additional annual
increase of 1% in population due to various other inpufs in the systém. The percentage increase in the yeast population
after 2yrs is:

Ans  of 1.10.25%
X 2 10.20%
< 3.10.52%
X 4.10.30%

B

Question ID : 2391302949

Q_4 The average of 7 numbers i¢ 30. The average of first three of them is 23 and the last three of them is 42. Then the fourth
number is:

Ans  of 1. 15
<225
a0
<4 10

Question ID : 2391302944

Q.5 A flight has to travel between 2 cities A and B. 1200 km apart. The flight was slowed down due to bad weather. Its
average speed for the trip reduced by 200 km/hr and the time of flight increased by 30 min. The duration of the flight
with original speed is:

Ans9C1. 1.75 hrs
v 2 1.50rs
< 3 1.6hrs

Question ID : 2391302952
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< 4 1.25hrs
Q.6 ; :
The number of terms in the sequence 20. 25. 30. . 140 is: Question ID : 2391302963
Ans ¢ 1. 758

<2 26
P & B
X423

Q.7 Ifthree sides of the triangle is given 12 cm, 16 cm and 20 cm. Then the area of triangle is:

Ans

v 1. 96 cm?
X2 90 cm?
X3 36 cm?
X4 05 cm?

Q_S Ms. Smita invests Rs. 2000 for six months at 20% per annum compounded quarterly. The total amount she gets after 6
months is:

Ans X' 1. Rs, 2200
& 2 Rs. 2250
v 3 Rs. 2205
& 4 Rs. 2210

Q‘g Pipe A can fill the tank 4 times faster than pipe B, if pipe A and B together fill the tank in 28 minutes, then pipe B alone
can fill the tank in:

Ans 1. 145 minutes
< 2. 150 minutes
+ 3 140 minutes
#< 4. 130 minutes

o
Q.1 0 A train 130 meters long travelling at 72 km/hr crosses the bridge in 30 sec. Then the length of the bridge is:

Ans X 1. 475 meters
& 2. 425 meters
& 3. 460 meters
v 4. 470 meters

Question ID : 2391302958

Question ID : 2391302950

Question ID : 2391302954

Question ID : 2391302959

Q.1 1 M Raj divides Rs. 1573 such that 4 times the 1% share. thrice the 2% share and twice the third share amount to the
same. Then the value of the 284 share is:

Ans  of 1. Rs.A84
X 2 Rs, 480
< 3 Rs\544
S RS 448

Question ID : 2391302946

Q_‘] 9 Inachemistiy lab two beakers A and B contains 62.5% and 87.5% of spirit respectively. If two liters from A is mixed
‘with 4 liters 0f B. The ratio of spirit and water in the resulting mixture is:

s g 19 : 7
2 19:6
<319:8
v219:5

Question ID : 2391302955
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Q.13 Mr. Kamal rows a boat with the stream at 16 km/hr and against the stream in 8 km/hr. In still water.
his rate of rowing in ki/h is:

Ans XT- 1
X22
<33
V4

Question ID : 2391302960

Q-1 4 If x; and x; are the roots of the equation 2x% 4+ 5x+3 = 0 then the equation which has the rootsfl and i is:

Ans

X132 -5x42=0
V2352 4+5x4+2=0
X3 3x24+5x4+42=0
X43x245x—2=0

Q.1 5 1f2 is added to the denominator of a rational number. it becomes % and if 4 is added to the numerator it becomes %
Then the sum of the numerator and the denominator of the rational number is:

Ans 1. 27
X211
<3 -1
v 29

Question ID : 2391302957

Question ID : 2391302945

Q.1 6 Anamy of 1500 men has provision for 50 days. After 10 days due to injuries some of them left and the fnndwmnuw
enough for next 50 days for remaining men. The number of men left is:

Ans  of 1. 300 men
# 2 310 men
#< 3. 200 men
X 4 250 men

Question ID : 2391302947

Q.17 Ify exceeds x by 30% then x i< less than v bv what percent?

Question ID : 2391302962

Ans 1
v 23—
13
. 1
r g R Rl
13
1
<3 24—
13
1
X 42918
13
Q.18

Find Xpeiven 5(‘/5)‘”” e (‘/E)foi:

™ Ax=0

Question ID : 2391302956

Q_‘] ©Q M. Shiva invested equal amount of money in two private firms which gives 15% simple interest per annum for 3.5
years and 5 years respectively. If the difference in their interests is Rs. 225. The amount invested by Mr. Shiva is:

Question ID : 2391302948




Ans X' 1. Rs, 1050
X 2. Rs. 1005

+ 3 Rs. 1000
X 4. Rs. 2000

Q.zo A can finish the work in 15 days and B in 30 days. They both work together for 5 days and then B leaves. How many
days will A take to complete the remaining work?

Ans X 1.7.75 days
X 2. 7 days

Question ID : 2391302953

V' 3. 7.5 days
& 4 7.25 days
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021 T o bl Bt B s Rl B i

Ans «1. -8
X2 -10
X3 -9
X4 -5

Question ID : 2391302943

22 -
92 Fora positive integer n. gin _ 43n is divisible by

Ans X1- 71
<221
Vs 17
<41

Question ID : 2391302942

Q.23 Due to economic surges the price of eggs suddenly reduced to 40%. This enabléd a woman fo buy 64 more for $ 60.
Then the reduced price per dozen is:

Gl G &
<2 3$41
<384
vig45

Question ID : 2391302951

Q.24 Tpe total number of factors of 2° x 37 % 52 excluding one and itself is:
Ans X 1. 28
x< 2 30

Question ID : 2391302940

r S
v 4 70

Q.25 The curved surface area of a hemisphere is 327 em?, then its radius is:
Ans N 3 cnf
252 2 cm

Question ID : 2391302961

W3 4cem
244 6cm

Section : Reasoning
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Section ; Reasoning

Q.‘] Devendra travels 3 km towards west from his house. He furns to his left and walks 5 km. then turns to his right and
walks 3 km. then again turns to his right and walks 5 km. Finally. Devendra turns left and stops after walking 1 km. Question 1D : 2391302983
How far and in which direction is he from the starting point? )

Ans X' 1. 7 km East
v 2 7 km West
#< 3. 9 km North
# 4. 9 km South

Q.2 Three position of a cube are shown below. Which number will be opposite to the face containing 5?
Question ID: 2391302987

6 3 5

- 1 6

Ans :K:1.
Xz
K 3
v

Q.3 1dentify the word which belongs to the class of given words.

[P« S 7S R -8

Nuestinn |D : 2391302968
Orange. Violet, Yellow
Ans :K:1-:Piﬂk
< 2 Purple
< 3. White
v 4 Blue

U4 Gt v ReFeT 7 9TT F ST 3T AT T BT E Question ID : 2391302969

Ans X 1. VEWD
v 2 TGVF
# 3 RISH
< 42 XCYB

Q.5 &= =& F 97 ¥ A9 RF 7 ¥ A9 S F ag a0 50 § 09 & 37 I A9 an § .
B gt 3@ fweT &1 98w B w0 FUa 9E & GuAl 1 HTEr A B Question ID : 2391302982

Ans ?(:1.
Tefr FAABTT TS F e Fes e §1 swtew, T dfes amtEr §
v
Tl ®r I o wh w7 B §1 swlow, @i o uey
X 3
afY 977 Sffel ¥ Wl @ 97 ¥ swfov, wefr o9fder wE #
K4
Tell 7% @eer &1 Wl FX 9d &1 zmfew, @t wedk i E

Q‘G Which of the answer figure is exactly the mirror image of the question figure. when the mirror is held on the line X Y?

| T E
= |

Question ID : 2391302989

Ans




-
4
.

I

=

;|

"
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Q.7 Find the missing number from the given alternatives.

<317
VER

Ans

Question ID : 2391302981

Q.s Vaibhav is elder by 3 years to Rohit. After 10 years Vaibhav will be thrice his present age and Rohit will be six time of
his present age. How old is Rolit?

Ans  of 13 yelits
& 2. 3 years
A 3 4 years
A 4.5 years

Question ID : 2391302973

Q.9 Frouithe given alternatives select the word which cannot be formed using the letters of the given words.

ADMINISTRATION

Ans X' 1. TRADITION

Question ID : 2391302978




v 2 MINISTER
X3STRAND
X4STORM
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Q.10 Some equations are solved on the basis of a certain system. Find the correct value of *?” on that basis.

14* 13 =128
16* 13 =280
IS¥l= @

ios K 1518
v 2 156
X 3 615
< 4 165

Q.11 Choose the correct alternative that will complete the given number series.
6, 15, 40, 113, 7,979
Ans  of 1. 330
X2 223
X 3. 286
X4 311

Q.12 =ifie, wreter 3T Reer @ o1 &1 e, e & faar o= 787 &1 Tt fdarer @ o= 81 9,
Tiget & Toreer or 7 1 5 wa F ¥ gEw ey wa@r Ha 82

Ans (1' Tﬁﬁa‘
A 2 feaTer
X 3 fearor
K 4 qge

Q.13 oF 9 5 # #% HF =% & 37 & #5 ¥ 9, G F T A0 2 g9, e A mw § A
T oo e ik PRe I 7as 5 a0 A=

Ans X1 R
v s
X3 gHE
'X4.§Ei?—|‘

Q14 Select the pelated letters from the given alternatives.

Bl SOLG:: CHMR : ?

Ans o X SNI
72 YTOK
25 SAINSX
X 4 XSNI

Question ID : 2391302980

Queéstion 1D 12391302972

Question ID : 2391302976

Question ID : 2391302975

Question ID : 2391302966

Q.15 Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
mc_bem_cbbe_m_bbem

Ans o 1 bmme

Question ID : 2391302971
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< 2mecch | | 1]
X3 cbmb
X4 bemb

Q.16 Identify the diagram that best represents the relationship among classes given below: . 1
Question ID : 2391302985

Brinjal, Banana, Vegetables

Ans

Q17 Select the related number from the given alternatives. e ——

2:65::08:28
L SN
<209
V3 15
<418

Q.18 s &7 3R #E B gu o & o ofed A, FAG I A G oR ¥ o8 T ) @ BAiE aw ik
F OR ¥ WEE WA W ¥ 9 § @ S FA F O 3R @ 9 e, R F o ok @ e Question ID : 2391302984
T T F| §H 9 & T e om0

Ans X1- 20
<219
X322
v 21

Q19 g aw BT ¥ WeT w6 § 3 g TRer § w2 w8
Ans 7{'1. EIUTT

o 2 TR

<39
I X 4 THTT

Question ID : 2391302965

|°'2° Find the odd number pair from the given alternatives. | Guesilon [D - 230 TETIOTH |



Ans X1 28:8

<2 84:24
X3 49:14
vi42:6

Q.21 In a certain code language SISTER is written as RTRUDS. How would CARPET be written in that code language?

Ans X1 BBQQFS
X 2 DBSQFU
+ 3 BBQQDU
< 4 TEPRAC

Question ID : 2391302977

Q22 pow many triangles are there in the following figure?

gl

Ans X120
v 2 23
X329
<415

e B

Question ID : 2391302988

Q.23 If “+” means ‘division’, *—’ means ‘plus’, *x means ‘subtraction” and ‘= means “multiplication’, then what is the value of
13- 4=5%63+9=2

ans € 138
N 2325
V3 26
X422

Question ID : 2391302979

Q.24 T's father R is N’s paternal un¢le. M's hmsband L is I's only paternal uncle. How is M related to N?
Ans il

& 1. Sister

v 2 Mofher

Question ID : 2391302974

X 3. Cousin
K4 Aunt
Q.25 Select (he figure fron: the alternatives which will complete the pattern in given question figure.
O, O
| 1
|
(]

Ans

Question ID : 2391302986
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Section : General English
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Q.1 Select the word that best expresses the meaning of the given word. I

COHERENT
Ans  of 1. Logical
< 2 Affiliated
< 3. Convincing

/< 4. Rambling

Question ID : 2391303000

Q.2 Inthe following sentence. four words or phrases have been underlined. Cue of them is incorrect. Select the
INCORRECT word or phrase from the given optiosis.

The child threw himself on the bed and pulled a blanket at his face.

Ans X1 threw

Question ID : 2391302992

& 2 pulled

< 3. on the bed
v 4. at his face

Q.3 Select the appropriate plirase that completes the sentence CORRECTLY.

He is so fude that it is difficult to with him.

Question ID : 2391303007

Ans  oflimocton
/% 2. getout
75038 getup
75 4. get away

Q.4

Question ID : 2391302996




Select the option that completes the sentence CORRECTLY.

Whilst one group was busy cooking. the other wood for the campfire.

Ans  of 1. collected
& 2 will collect
/< 3. is collecting
# 4 has collected
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I

Q.5 Inthe following sentence, four words or phrases have been underlined. One of them is incorrect. Select the
INCORRECT word or phrase from the given options.

He must have been the very strong man to fight a tiger.

Ans  of 1. the
X 2. very strong
« 3. must
< 4 to fight

Question ID : 2391302993

Q.6 Select the word that best expresses the meaning of the given word.

DEVOUR

Ans X 1. Assign
< 2 Despise
' 3 Consume
& 4 Design

Q.7 Inthe following sentence, four words or phrases have been underlined. Ope of {hem isincorrect. Select the
INCORRECT word or phrase from the given options.

You don’t have to stay with me unless it bothers you.
Ans X 1. don’t have to
<2t
X 3. with
v 4 unless

S5

Question ID : 2391302999

Question ID : 2391302990

Q.8 Select the word that best expresses the meaning of the given word.

EXOTIC

Ans 3¢ 1. Thorough
< 2 Excessive
< 3 Familiar
¥ ¢ Unusual

Question ID : 2391302998

Q9" Select the word that is spelled INCORRECTLY.
Ans 1. Intolrent

< 2. Intoxicate
/< 3. Intricate

Question ID : 2391303006




< 4 Intimate
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Q.10 Select the appropriate phrase that completes the sentence CORRECTLY.

In view of the situation in his country. he had to his departure for an indefinite time.

Ans 1. put through
& 2 putin
/< 3. put out
« 4 put off

Question ID : 2391303008

Q11 Select the word that is spelled INCORRECTLY.

Ans X' 1. Outlet
& 2. Outline
< 3. Outfit
v 4 Outflo

Q12 gGelect the ANTONYM of the given word.

COINCIDE
Ans 1. Disappear
< 2. Disappoint
/< 3. Disbelieve
v 2 Disagree

Question ID : 2391303004

Question ID : 2391303001

Q13 Find the appropriate meaning of the underlined idiom.

When he was speaking. 1iis faflier cut him off.
Ans 1. disinherited him
X 2 rebuked him
#< 3. jsolated him
« 4 interrupted him

Question ID : 2391303009

Q.14 Select the option that completes the sentence CORRECTLY.

she was not well, I offered to help her.
Ans 3¢ g Although
» 7 Since
2 3 “Wherever
70 4 However

Question ID : 2391302994

Q.15

Question ID : 2391303002
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Select the ANTONYM of the given word.

LAVISH

Ans X 1. Laudable
« 2. Meagre
< 3. Liberal
& 4 Excessive

Q.16 Inthe following sentence, four words or phrases have been underlined. One of them is incorrect. Select the
INCORRECT word or phrase from the given options. Question ID : 2391302991

The poet dreams of a world where men have not scomn each other

Ans X 1. each other
< 2 where
' 2 have not scorn
& 4 dreams

Q17 Select the ANTONYM of the given word. Yestion 1D - 2391303003

OPPRESSIVE
Ans X 1. Voluntary

< 2 Wise

v 3 Humane

X 4. Prosperous

.18 ; ‘ ;
Q.18 Select the option that completes the sentence CORRECTLY. Question ID : 2391302995

I haven't met Mr. Kapoor _January,
Ans X 1. from
& 2. between
v 3 since

X 4 for

Q.19 Select the option that completes the sentence CORRECTLY.
Question ID : 2391302997

Mrs. Vyas is very much interested in classical music. So she like to attend the concert.
Ans 1. may
& 2 must
v 3 will
X 4 can

@20"Select the word that is spelled INCORRECTLY. fiRslie {0 SRR
Ans X 1. Rejoice




+ 2 Relapes

& 3. Release
/< 4 Regulate

Q.2

Comprehension Passage:

Read the following passage and answer the given questions.

If we walk back to the past. sensitivity to torture of any kind is a
rather contemporary phenomenon, showing up first in the 19%
century. Till then, worldwide. the torture of both humans and
animals was accepted as normal.

During 1807-50. as if making up for past injustices. our collective
consciousness suddenly woke up to ethically question the torture of
all living beings. Around this time. in Britain for example. slave
trade was abolished. the 1832 Reform Act was passed. and bear
baiting. even dog fights. became illegal.

With the increase in democratic awareness. we also pegame nunarnu
of animal life. 19® century attitudes were inclined towaius aseepting
humans and animals as somewhat continuous creations. Therefore.
what applied to us was now being extended to inelunae 0ther living
creatures too.

Again. it was in the mid-19® century fhat the hiangiian’s rope was
lengthened so that death would be@nick: the earlier short drop left
the condemned person dangling for lons Cmcifixion and stoning
were no longer considered civilized.

All of this is off the charts today. veran we past it was seen as
normal, even fun. Thousl weslill continue with capital punishment.
yet we strive to make was pamr fre=45 modern medical knowledge
will allow — enter the lethal #meemon. No more howling and
cheering from a frenzied crowar e sentence is now delivered
within prison confifies.

All these changes hiave happened in recent times as old fashioned
torture is no longer acceptable. Humans and beasts. individually and
singly. aremot to be put in pain. and if they have to die because we
must punish, or we must eat. let us deliver the blow as softly as we
can. Yet, when man and beast are performing together in acts that
invalve pain, sometimes death, there has been much stronger
resistance against banning them. This is true of Jallikattu and the
bull fight. Jallikattu is a popular sport that has become culture as it
pits men against bulls. The Spanish bullfight also has always been a
spectacular public sport. It is almost as if we are compelled to
deinonsirate our mastery over nature at regular intervals.

SubQuestion No : 21

Page 18
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' Which of these is NOT a civilized way of putting Cuestion 1022391303013
someone to death?

Ans 1. delivering a death sentence within the prison

#< 2. hanging with a long rope
#< 3. giving a lethal injection

v 4 hanging with a short rope

Comprehension Passage:




Read the following passage and answer the given questions.

If we walk back to the past. sensitivity to torture of any kind is a
rather contemporary phenomenon, showing up first in the 19%
century. Till then, worldwide. the torture of both humans and
animals was accepted as normal.

During 1807-50. as if making up for past injustices. our collective
consciousness suddenly woke up to ethically question the torture of
all living beings. Around this time. in Britain for example. slave
trade was abolished. the 1832 Reform Act was passed. and bear
baiting, even dog fights. became illegal.

With the increase in democratic awareness. we also became mindful
of animal life. 19® century attitudes were inclined towards accepiing
humans and animals as somewhat continuous creations. Therafore.
what applied to us was now being extended to include other living
creatures too.

Again. it was in the mid-19% century that the hangman’s rope Was
lengthened so that death would be quick: the earlier short drop left
the condemmned person dangling for long. Crucifixion and stoning
were no longer considered civilized.

All of this is off the charts today. but in the past 1t was seen as
normal. even fun. Though we still continue wim eapital punishment.
yet we strive to make it as pain freeas modern medical knowledge
will allow — enter the lethal injectioni. Mo more howling and
cheering from a frenzied crowd: the senténees is now delivered
within prison confines.

All these changes have happened in recent times as old fashioned
torture is no longer acceprabie. Humans and beasts. individually and
singly. are not to be put in pam.and if they have to die because we
must punish, or we must eat. ierus deliver the blow as softly as we
can. Yet, when mai and beast are performing together in acts that
involve pain. sometimes death. there has been much stronger
resistance against banning them. This is true of Jallikattu and the
bull fight. Jallikattu is a popular sport that has become culture as it
pits men against bulls. The Spanish bullfight also has always been a
spectacular public sport. It is almost as if we are compelled to
demonstrate our mastery over nature at regular intervals.

SubQuestion No : 22
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Q.2 - . . T . LI
5 awWhich c_>f these 1S_I\OT an example of Britain’s Question D : 2391303012
awakening consciousness?

Ans ¢ 1. Declaring dog fights illegal

« 2 Lethal injection

< 3. Abolition of slave trade




#< 4 Banning bear baiting
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Ans x1.

Comprehension Passage:

Read the following passage and answer the given questions.

If we walk back to the past. sensitivity to torture of any kind is a
rather contemporary phenomenon, showing up first in the 19®
century. Till then. worldwide. the torture of both humans and
animals was accepted as normal.

During 1807-50. as if making up for past injustices. our collective
consciousness suddenly woke up to ethically question the torture of
all living beings. Around this time. in Britain for example. slave
trade was abolished. the 1832 Reform Act was passed. and bear
baiting. even dog fights. became illegal.

With the increase in democratic awareness. we also became nuindful
of animal life. 19® century attitudes were inclined towards accepung
humans and animals as somewhat continuous creations. Thererore.
what applied to us was now being extended to include other living
creatures too.

Again, it was in the mid-19® century that the hansman’s rope was
lengthened so that death would be quick: therearnersnort drop left
the condemned person dangling for lofig. Crucifixion and stoning
were no longer considered civilized.

All of this is off the charts today. but i the past 1t was seen as
normal, even fun. Though we still eonunwe with capital punishment.
yet we strive to make it as pain {ree as modern medical knowledge
will allow — enter the lethal iniection; oo more howling and
cheering from a frenzied crowe!: the sentence is now delivered
within prison confines

All these changes have happened in recent times as old fashioned
torture is no longer acceptable. Humans and beasts. individually and
singly. are not to'be put in pain. and if they have to die because we
must punish. or we inust eat. let us deliver the blow as softly as we
can. Yet, when man and beast are performing together in acts that
involve pain. someiimes death. there has been much stronger
resistance against banning them. This is true of Jallikattu and the
bull fight. Jallikattu is a popular sport that has become culture as it
pits men against bulls. The Spanish bullfight also has always been a
spectacular public sport. It is almost as if we are compelled to
demonstrate our mastery over nature at regular intervals.

SubQuestion No : 23

Qéz The writer’s tone in the passage is that of sarcasm.
Which sentence depicts it most predominantly?

Question ID : 2391303015




And if they have to die because we must punish. or
we must eat. let us deliver the blow as softly as we
can.

v

As if making up for past injustices. our collective
consciousness suddenly woke up to ethically
question the torture of all living beings.

X3
Though we still continue with capital punishment.
yet we strive to make it as pain free as modern
medical knowledge will allow.

x4
It is almost as if we are compelled to demonstrate
our mastery over nature at regular intervals.

Comprehension Passage:

Page 22




Ans 3¢ 1. banning of torture

Read the following passage and answer the given questions.

If we walk back to the past. sensitivity to torture of any kind is a
rather contemporary phenomenon, showing up first in the 19%
century. Till then, worldwide. the torture of both humans and
animals was accepted as normal.

During 1807-50. as if making up for past injustices. our collective
consciousness suddenly woke up to ethically question the torture of
all living beings. Around this time. in Britain for example. slave
trade was abolished. the 1832 Reform Act was passed. and bear
baiting, even dog fights. became illegal.

With the increase in democratic awareness. we also became mindful
of animal life. 19® century attitudes were inclined towards accepiing
humans and animals as somewhat continuous creations. Therafore.
what applied to us was now being extended to include other living
creatures too.

Again. it was in the mid-19% century that the hangman’s fope Was
lengthened so that death would be quick: the earlier short drop left
the condemmned person dangling for long. Crucifixion and stoning
were no longer considered civilized.

All of this is off the charts today. but in the past it was seen as
normal. even fun. Though we still continue with capital punishment.
yet we strive to make it as pain fresas wwucrn medical knowledge
will allow — enter the lethal injection: ™o more howling and
cheering from a frenzied crowd: the sentenee is now delivered
within prison confines.

All these changes havehappened 1n recent tumes as old fashioned
torture is no longer accepranie. Humans and beasts. individually and
singly. are not to be put in pam «and if they have to die because we
must punish, or we must eat. 1erus deliver the blow as softly as we
can. Yet, when mai and beast are performing together in acts that
involve pain. sometimes death. there has been much stronger
resistance against banning them. This is true of Jallikattu and the
bull fight. Jallikattu is a popular sport that has become culture as it
pits men against bulls. The Spanish bullfight also has always been a
spectacular public sport. It is almost as if we are compelled to
demonstrate our mastery over nature at regular intervals.

SubfQuestion No : 24
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Qf Wliat is a contemporary phenomenon according to
the passage?

Question ID : 2391303014

X 2. acceptance of torture

~< 3. insensitivity towards torture




makes a case for Jallikattu and bullfight as cultural
events

X2
describes various kinds of tortures used through the
ages

v

stresses the changing attitude towards inflicting
pain on humans and animals

X 4
explains why there is a resistance against banning
sports involving man and beast
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v % condemnation of torture

Comprehension Passage:

Read the following passage and answer the given questions.

If we walk back to the past. sensitivity to torture of any Kind is a
rather contemporary phenomenon. showing up first in the 19%
century. Till then, worldwide. the torture of both humans and
animals was accepted as normal.

During 1807-50. as if making up for past injustices. our collective
consciousness suddenly woke up to ethically question the torture of
all living beings. Around this time. in Britain for example. slave
trade was abolished. the 1832 Reform Act was passed. and bear
baiting, even dog fights. became illegal.

With the increase in democratic awareness. we also became 1indful
of animal life. 19% century attitudes were inclined towards accepting
humans and animals as somewhat continuous creations. Theretore.
what applied to us was now being extended to include other liviug
creatures too.

Again, it was in the mid-19® century that the hansmain’s rope was
lengthened so that death would be quick: the'@arlier chort drop left
the condemmned person dangling for lofig. Crucinxion and stoning
were no longer considered civilized:

All of this is off the charts today. but ini the past it was seen as
normal. even fun. Though we still continue with capital punishment.
yet we strive to make it as nain fr== a< modern medical knowledge
will allow — enter the lethal injection. No more howling and
cheering from a frenzied crowd. the sentence is now delivered
within prison confines

All these changes have happensa in recent times as old fashioned
torture is no longer acceptable. Humans and beasts. individually and
singly. are not to-be put in pain, and if they have to die because we
must punish, or we must eat. let us deliver the blow as softly as we
can. Yet. when man and beast are performing together in acts that
involve pain. sometimes death. there has been much stronger
resistance against banning them. This is true of Jallikattu and the
bull fight. Jallikattu is a popular sport that has become culture as it
pits men against bulls. The Spanish bullfight also has always been a
spectacular public sport. It is almost as if we are compelled to
demonstrate our mastery over nature at regular intervals.

SubQuestion No : 25
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Q2 . .
. The passage: Question ID 12391303011

Ans ?<1-




